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Completer reQuest (CQ) Interface

The interface through which al received requests from the link are delivered to the user application.

Completer Completion (CC) Interface

The interface through which completions generated by the user application responses to the completer
requests are transmitted. Y ou can process all Non-Posted transactions as split transactions. That is, it can
continue to accept new requests on the Requester Completion interface while sending a completion for a
request.

Requester reQuest (RQ) Interface

The interface through which the user application generates requests to remote PCle devices.

Requester Completion (RC) Interface

The interface through which the completions received from the link in response to your requests are
presented to the user application.
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C_DATA_WIDTH = 256

AXISTEN_IF_RQ_ALIGNMENT MODE == “FALSE"
AXISTEN_IF_CC_ALIGNMENT_MODE == "FALSE"
AXISTEN_IF_CQ_ALIGNMENT_MODE == "FALSE"

AXISTEN_IF_RC_ALIGNMENT_MODE == "FALSE"
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m PClel 00000000
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PIO_RX_RST_STATE
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m_axis_cq_tready <= #TCQ 1"bl;
m_axis_rc_tready <= #TCQ 1"b1;
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P10_RX MEM_RD_FMT_TYPE - PIO_RX WAIT_STATE O

PI0_RX_MEM_WR_FMT_TYPE - (m_axis_cq_tdata[74:64] == 11°h001) || (m_axis_cq_tdata[74:64] == 11"h002)
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PIO_RX_IO_RD_FMT_TYPE - PIO_RX_WAIT_STATE

PI0_RX_10_WR_FMT_TYPE - (m_axis_cq_tdata[74:64] == 11*h001) || (m_axis_cq_tdata[74:64] == 11"h002)
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P10_RX_ATOP_FAA FMT_TYPE, PI10_RX_ATOP_UCS FMT TYPE, P10_RX_ATOP_CAS FMT TYPE = PIO_RX WAIT_STATE

P10_RX_MEM_LK_RD_FMT_ TYPE - PI0_RX_WAIT_STATE
P10_RX_MSG_FMT_TYPE — PIO_RX _RST STATE
P10_RX_MSG_VD_FMT_TYPE - PIO_RX_RST_STATE

P10_RX_MSG_ATS_FMT_TYPE - PIO_RX_RST_STATE
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PIO_TX_RST_STATE
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if(req_compl) begin



state <= #TCQ P10_TX_COMPL_C1;
else if (req_compl_wd) begin
state <= #TCQ PI0_TX_COMPL_WD_C1;
end else if (reg_compl_ur) begin
state <= #TCQ PI0_TX_CPL UR C1;
end else if (gen_transaction) begln
dstate <= #TCQ PI0_TX_MRD_C1;
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P10_RX_MEM_RD_FMT_TYPE
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PI0_RX_10_WR _| T TYPE
req compl 0D OO OODO
P10_RX_ATOP_FAA FMT TYPE, P10_RX_ATOP_UCS_FMT TYPE, P10_RX_ATOP_CAS_FMT TYPE
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if(wr_data[31:0] == 32"hAAAA BBBB && !trn_sent)
gen_transaction <= #TCQ 1¥b1;

else
gen_transaction <= #TCQ 1"b0;

PIO_TX_COMPL_C1

000 0O 00"Completion Without Payload - Alignment doesnt matter Sent in a Single Beat When
Interface Width is 256 bit."
saxiscc treedy 00D D000 O0OOPIO_TX_RST_ STATEOOOO

PIO_TX_COMPL_WD_C1

00000 d"Completion With Payload. Possible Scenario's Payload can be 1 DW or 2 DW. Alignment
can be either of Dword aligned or address aligned.”
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PIO_TX_COMPL_PYLD

000000 "Completion with 1DW Payload in Address Aligned mode”
saxiscctready 000 OO0OO0OOOPIO_TX_RST STATEQOODOO

PIO_TX_CPL_UR C1

000000 "Completions with UR - Alignement mode matters here”



saxiscc tready 000000000 0PIO TX_RST STATEOD O OO

PIO_TX_MRD_C1

000000 "Memory Read Transaction - Alignment Doesnt Matter”
saxiscc treedy 0000000 OOOPIO_TX_RST STATEQOODOO

PIO_TX_COMPL_WD_2DW

0000 O 0O "Completion with 2DW Payload in DWord Aligned mode. Requires 2 states to get the 2DW
Payload."

PIO_TX_COMPL_WD_2DW_ADDR _ALGN_C1

ALIGNMENT_MODEO FALSEO O UODOOOODOOOODOODOOD
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